Questions of the Day Set #6 Spring 2018

The molecular formula of a compound is X3Ys.
What is the empirical formula?
(A) X3Y (B) X,Y (C) XY (D) XY3

A Compound contains 36.48% sodium, 25.44%
sulfur, and 38.08% oxygen. What is the
empirical formula for this compound?

(A) NaSO; (B) NaSO,
(C) Na,S0; (D) Na,S0,
e oxide of meta as the formula .
hich group on the Periodic Table contain
etal X? (A) Group 1 (B) Group 2
(C) Group 13 (D) Group 17

S What is the empirical formula of a com-
pound that consists of 16.4% magnesium,
18.9%0 nitrogen, and 64.7% oxygen?

(A) MgNO; (B) Mg(NO3)>
(C) MgNO- (D) Mg(NO;),
# What is the correct formula for iron (II) sulfide?
65 (A)FeS (B) Fe:S;
(C) FeSO;; (D) Fez(803)3

# How many grams are equal to 1.757 moles of
66 calcium phosphate, Ca3(P0,),?
(A)545.2 g (B) 0.005662 g
(C)176.6 g (D) 1.058x10** g



# What type of equation involves two separate
elements combining to form one compound?
(A) single replacement (B) synthesis
(C) double replacement (D) decomposition

# What are the coefficients when the following

68 equation is correctly balanced?

__Cl; + AIBr: =  AlCl; +
(A)1,2,1,2 (B) 3,2, 3,2
(C)3,2,23 (D) 2,3,3,2

#69 .
Whatis the oxidation number of chromium ilfQ
Na,Cr,0-?
"(A)+5 (B)+6 (C) +7 (D) +2
§#70
- Whatis the percent of chromium by mass in
: NaZCr207?
- (A)39.7% (B)42.7% (C) 19.8% (D) 17.6%

~ When combining with nonmetallic atoms,
;metallic atoms will generally
(A) lose electrons and form negative ions
(B) lose electrons and form positive ions
(C) gain electrons and form negative ions
(D) gain electrons and form positive ions

__Bnr

ﬁ Which substance can be decomposed by a
# chemical change?

(A) beryllium (B) boron

(C) methane (D) magnesium



